oo = == == ==[1[]

00 0000000130 0000000000000000000000000
0000o0o00ooooooog

0oO@oo0oo)

ooo:

000 : 2024/9/25 10:35:19

oooo

O00000000000000011309040000 0 0011300064450 0000
OO0oo0ooooooooooon
(OH)ooooooilsoilooooooouooooloo40000300000000000030000
ood
(OHooooooo1ooooooooooloo400oo3nooooooooooo3noan
oooo

(OHhoOooooooooooDoooDoooOooDbOoooOOooDoOooDoobOOoobOooDbOoo
(OHhoooooboobooDooobDooobOooDbOoobOoooOooOoobOooboobOoooooao
gooooood

0000000000000 00000D0Odhttps://meet.google.com/bah-athd-pwt [
0000000000000 000000000https://drp.tyc.edu.tw/TYDRP/Index.aspx( O O O
00000000 0D0E00041-2409000020 O O O O O O E00041-2409000030 0 0 00 00O O
00000000000 0000000000000 (03)46615870 O 31001 3110

http://163.30.202.2 2025/5/20 1:36:25 - 1


https://meet.google.com/bah-athd-pwt
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

